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Answer ALL questions.

PART A — (10 x 2=20 marks)"

1. Give the conventional symbols/signs for the fﬂll‘pwip‘g y

(a) Chain Line RN i~
(b) Road over Railway. " S

2. Name any two instruments needed for chaini!ng and their use also.

3. What are the personal
»_J"

4. Fmd the true bearing of tﬁe
declination is 4° 30" West. ( N

5. What are the different @ ons appiied to levellin‘g‘?

ur mterval' and ‘Hurmnnt.al Equwalanua :

6.  Define the terms '

7. State the
—F-il?: 3 rightobn

.l o ¥ o .,"

articles of axgurve:vur can cause local attraction?

MH if its magnetic beanng 13 S 35°W. and the

_}sf[ag;'q_ﬁﬁfn : 100 marks




12. (a) Following bearings were taken

13.

(b)

(a)

" the tops on the given gradient. Show the results as it 1s show:

1111

i Whit do you mean by vanging? Explain the two methods of rnngu}g.)
" A chain line AB crogses a river, M and N being on {;"‘5‘9 mi‘ﬂ?‘;&
distant banks respectively. A point P is meast Th:t angglu
angles to AB from M. At P, PA and PN are set ¢ the W
APN is 90°. AM measured is 85 m. Find MN, tl of the I3 E{':f}

in runming a-c@s traverse. At what

<7 Find the-corrected bearings and g
- L (16)
Line FB. BR. =
pQ N 46’ 10E S 462 10W
QR S 60°40E b{ 61°20'W
RS S 10°G0E._ N-08750W
NS AL
SP.. N m‘k‘g'li:w ,Lﬁ_ﬁﬂ' 10E

stations do you suspect local attraction
included angles.

—Or/
f i |
Discuss the following in detail Aabout plane tabling :
(i) Errors. z:li{:‘:;, : iy (6) 0N
(i) Advantages Fn}ﬁ@i"tatinns. - | (5) “_;}
(i) Method of Intersection Gl
. N : A

-

[n running fly levelling from a BM of RL 100m, the following readings
were taken.. oy 20 e
( BackSights 3125 1030 129 1.855 B

;«Qfgam Sights 1.2256 3.290 2.085 s

From the 'tést position of the instrument, 6 pegg at 25 m interv
be set out on a uniformly falling gradient of 1 in 250. The top of i
is to have a RL of 99.205. Work ot the staff readings required

book.



Wn langl;hs and bearmgs were recorded in mnnin: a theodohu
traverse in the counter clockwice direction, the len h of CD and bearing

f" of DE having been omitted. Determine the omit ments. (16)
' Line

| AB
- : BC
: : | cp
i e ; ~ DE
: A | EA _{fe:j S T4°24'W

_iE. (@) () Explain the douhle theodolite “method of set.tmg out of a simple
( curve. (9

(i1) Draw a neat s h %‘*g a simple curve and its oumpune‘nt ,
i features and define hem. - : ) ‘

o
(b) Explain the %uwaya to be carried out for the effective
1mp1ementatmn way project. : : (16)




